LY —-A11VO/10RFITRHER

Variable Displacement Piston PumP LY -A11VO/10

# & Overview

LY-A1TVSOMORFIIFTRHER O AHBE A MO HETRE, 23ATILH
MITENMHAET, SEREAFAEERAEERNEITE, RREMER, W
EL{EENFIE3ISMPa,

LY -A11V(S)O/10 series variable displacement piston pump swash plate axial plunger

variable pump,respectively for industrial use and for mobile machinery design, is
designed for open loop hydraulic driven design, adopts a shaft structure, rated
working pressure up to 35Mpa.

FE2E RS £ il 1Y

VRS
refurmg petin
= =
/ )& %
Foik
e '
R I BAR 25 ki
s Pl control piston

G- Features

K RENMEEETRR, ATAXEERERS % Variable pump with axial piston rotary group of swash-plate
s EED, design for hydrostatic drives in open circuit.

X T YA LR R B it # Designed primarily for the use of walking machines.

» s% When the mailbox is pressurized or when an optional built—
ERFMER L AR N EMER(FTR)ARET, in impeller is used The pump is operated under the condition of
REE A BRI ERRE TRIE, automatic start—up and oil injection.

KROEH B S EAERNEMEHERSE. 3% Provide a variety of optional control parts to meet the

SRR TESNBATYS, B ST B requirements of various applications.

5 * Power control optional parts are externally adjustable, even
when the pump is running.

R ANE S A TR RAH PR # Through shaft drive is suitable for adding gear pump and axial

5 it B S5 3R 3h K BE RY bk 9 3 B AT EAFE Qv max 1 Q min= piston pump.

0 B X LRI 3 The output flow rate is proportional to the driving speed and can

vary freely between Qvmax and qvmin=0




#5418 Type Code

1 2|1 34|65 BN T8 9 (1011|1213 |14 (15 | 16

1-H o2 o Axial piston unit
#&igit, TR, ARES 350 bar, BAES 400 bar

Swashplate design, variable, nominal pressure 350 bar, maximum pressure 400 bar LY
2-TmEEZR (M%) Charge pump (impeller) SE| 1301-14C. 190
AHInER (A 88) without charge pump (no code) T T Y
# 45 niE 3 with charge pump - | o | ® | @ L
3-i5% Operation
=, FE2% Pump, open circuit O
4-H$& Size
~HEl Vgmax{cm®) = Displacement Vgmaxin cm® g5 | 130 | 145 | 190
5-F#H#14 Control unit
Th ¥ 2 # Power control ® | o | e | @ LR
v FE J7 P18 oh 3 #2 Hlwith pressure cut-off and Power control e | & | e |0 LRD
4 = A U1 30 0 5 Y A Th |
with pressure cut—off and with load sensing Power control e - R * bne
Hi$T#2 R 4 Th {2 Bl with stroke limiter and Power control e | o | e | o LRDU2
EAE#EPressure control @ e | @ 5] DR
T 4 88 &8 /& /138 Bwith load sensing and Power control e | o | e | o DRS
B8 Lk ##52 BlElectric control with proportional solenoid [ I N T A EP2D
6-#% 7%l Series
1
7-%15| Index
W95 130 0
¥ 145 1980 1

A& AEChart shows: @=RJLi{tffAvailable, O=fF#& ¥ In preparation, —=7Not available




8-eE A ( MEIRE ) Rotating Direction(View on Shaft End)

% t$t Counterclockwise L
9-## Seals
TRENBR, HHEMREIShaftseal FKM N
10-§h¥%% Shaft end 05 130 145 190
ATAGEMAS TR DIN 54808 plined shaft DIN 5480 for single and combinationpump | @ | ® | @ | @ Z
SEgth, 4 DIN6885 Parallel keyed shaft DIN 6885 e (o | o | o P
@i ANSI B92.1a-1978 ATRafR forsingle pump e | o | o | @ S
Splined shaft ANSI B92.1a-1976 | mFmA for combination pump S (BESE I I T

11-F3&#% 2 Mounting flange
SAE J744-4 F, Hole e | & | & | @ D

12-T{EE &k O Service line ports

SAE WEH5BHN, MHEALHKRRY) o VTl oM 43
Pressure and suction port SAE, at side, opposite side(with metric fastening threads)

13-# $1 3835 Through drive
7% 2 SAE J744 e SR RER B
- - e | o o | @ NOO
5/8in 9T 16/32DP (A) e | o o | o KO1
82-2 (A)
3/4in 11T 16/32DP (A-B) e | o @ o K52
7/8in 13T 16/32DP (B) e | o o | @ K02
101-2 (B) 1in 15T 16/32DP (B-B) o & @ @ K04
W35 2x30x16x9g o | o | o | o K79
1 1/4in 14T 12/24DP (C) o | o o | e K07
11/2in 17T 12/24DP (C-C) & [ @ @ K24
127-2(C)”
W30 2x30x14x9g e | o o | @ K80
W35 2x30x16x9g e | o | @ o7 Ké1
1 1/4in 14T 12/24DP (©) e | o o | e K86
1 3/4in 13T 8/16DP (D) - | o | ® | ® K17
152-4 (D) W40 2x30x18x9g | o | o | @ K81
W45 2x30x21x9g e | o o | e K82
W50 2x30x24x9¢g - @ @ @ K83
1 8/4in 13T 8/16DP (D) - -1 -1 e K72
165-4 (E)
W50 2x30x24x8g - - -] ® K84

M35 AEChart shows: @=T] LlfitffAvailable, O=fE#&In preparation, -=7FNot available




A $ ¥ Technical Data

HiRE (E, TEFEREMAE; E{{E)Table of values (theoretical values, without efficiency and tolerances; values rounded)

##& Size A11VO a5 130 145 190
H#il Vgmax | om® 93.5 130 145 193
Displacement Vgmn | om® 0 0 0 0
%i# Speed fmec | rpm 2350 2100 2200 2100
Vomex B BB A{H
Vo =< Voma" BFRYERA(E Mimax1 mm 2780 2500 2500 2100
Mimex 1 Vg mex BRI Qvmex | L/min 220 273 319 405
Qumex F1 Ap=350bar BffITHE | Prax | kW 128 159 186 236
Vomex 1 Ap=350bar FIEHIE | Tm Nm 521 724 808 1075
Z% |Nm/rad 199601 302495 302495 346190
%RhAlE P4 |Nm/rad 196435 312403 312403 383202
Rotary stiffness S# |Nm/rad 173704 236861 236861 258773
T4 | Nm/frad - - - 301928
ﬁ:fmm S oD Jw | kgm? 0.0173 0.0318 0.0341 0.055
4)
ﬁuﬁﬂfﬁemm - a rad/s* 13000 10500 9000 6800
imi* %1k Filling capacity v L 21 29 29 38
1R (GE{el{i) Mass (approx) m kg 53 66 76 95
& Size A11VO (aryintm) 130 145 180
H Vomex | cm’ 130 145 193
Displacement Vgmin | ©m?® 0 0 0
N e AR - L 5 o Va
Vo < Vome” RO A(E Mmaxt | FPM 2500 2500 2500
Nimax 71 Vg max BRI qumex | L/min 325 363 483
Qumex #l Ap=350 bar BFEITHE | Pmex | kW 190 211 281
Vomex 1 Ap=350bar RFEY3H%E | Tmex | Nm 724 808 1075
Z% |Nm/rad 302495 302495 346190
REThAI BT P% |Nm/frad 312403 312403 383292
Rotary stiffness S4li |Nm/rad 236861 236861 259773
TH |Nm/rad - ~ 301928
:iff:ﬂﬁ:m 2 A Jiw | kgm? 0.0337 0.036 0.0577
ﬁlﬁfﬂ:fmmim, max’ K| s oy 8oy 6500
miZ % Filling capacity ') L 2.9 2.9 3.8
R (GE{e{i) Mass (approx) m kg 72 73 104

1) B{EIE A TR (pae) 1 bar TEYEM O S My % EHIERE,

2) B{EIE B F A% E S (pas) 71> 0.8 bar FHRM O S F7 S HAERE
3) WEEAT Vo < Vomax BB O S BINOES pabs HHMHER T (85 6 M ER)
4) -FHEREO MR ITHEZME,
BiE TR (RNE P s D FE 2-8 15, 7710 PR ahifi = b FokRmE).

- BREMNERTRER.
- AERERNE PG

Auls: B VFRIRME AT RE S BRI ERETTHIMER L., ERAFREBENBAHRAE, SRS HE,




¥ A $ ¥ Technical Data
e BaAY s 4B F0 2 5 5188 Permissible radial and axial loading on drive shaft

PridSE e X, ARVFATESEIET,

The values stated are maximum data and not pemissible for continuous operation

k& Size #l¥% Size 95 130 145 190
BAEE, Fomax| N 8000 11000 11000 16925
ﬂ:%m 1] | Famec| N 6334 8594 8594 13225
max. at distance| B mm 35 40 40 46
a, b, c(from 4bC | Foma| N 5242 7051 7051 10850
shatt collar) c - 50 57.5 57.5 66
BAHIE S =ilE |
Axialforce, mex| ' S [Flamed N 3500 4800 4800 6000
53 RO\ S5 F0 B IR BT 48 Permissible input and through drive torques
34 Size #4E Size 95 130 145 190
HI$E Torque e
(75 Vg na B ﬂp:EE-Dbar"} T Nm 521 724 808 1075
BAMANAE"
£ P BisR%i4 DIN 6885 1044 1448 1448 2226
Input torque, max” TE perm Nm
atshaftend P #45 #50 $50 #55
Shaft key DIN 6885
7E Z S DIN 5480 4 2190 3140 3140 3140
at Z shaft end DIN 5480 s bl W45 W50 W50 W50
7E S 3% at S shaft end - N 1640 1640 1640 1640
E
ANS| B92.1a-1976 (SAE J744) | - *™ | M 1 3/4in 13/4in 13/4in 13/4in
{E£ T ¥ at T shaft end Te N - - - 2670
ANSI| B92.1a-1976 (SAE J744) 2 2 = i 2in
BB RIEEhnE"
Through diive torgua = TPEm | < N 822 1110 1110 1760
1) G ERPBE Efficiency not considered
2) AT #Ea%r a9 04 For drive shafts with no radial force
3) ML S A58 K W\ H14E Observe max. input torgue for shaft S
#4544 Torgue Distribution REAHE
Vgenen, :
i Qv = 1000 I/min
__ Vg+4p Nm
#1458 T aenin®
2neTsn = q,*Ap
W i 60,000 600 = 1;
Vo= H4HE (cm )
Ap=[E2 (bar)
n = %% (rpm)
nv="HHPE
n mh = HUAE - TR H

Nt=ENE (M=rv * Nmh)




LR- ThEE#EH Power Control

RFEHSRPETEEARTREROHR, ANEHERIEETAS
A AE AR EhThE,

The power control regulates the displacement of the pump depending
on the operating pressure so that a given drive power is not exceeded
at constant drive spesed.

P = T{£FE /1 operating pressure

Eealamine Vg = #ilk displacement

1% A A Ah 2R 45 14 R RS fRiE sl REss SCIN ] A Th g | R A .
The precise control with a hyperbolic control characteristic, provides an
optimum utilization of available power.

TEEDESNEEZERTEMA. SMNETIEMESEHSHAEH,
ERED RIS,

The operating pressure acts on a rocker via a measuring piston. An
extemally adjustable spring force counteracts this, it determines the

power setting.

MRTEEHBTERAGRRS, BFEsHEGERBEFRE (FE
Vomn)o BHKESE, TEEHMENESHIRAEERER, B
HASETRIHTHR (ps * Vo= FR).

If the operating pressure exceeds the set spring force, the control valve
is actuated by the rocker, the pump swivels back (direction Vg min). The
lever length at the rocker is shortened and the operating pressure can
increase at the same rate as the displacement decreases without the
drive powers being exceeded (ps = Vg = constant).

TR hEE (LR 491E) SRR N,
The hydraulic output power (characteristic LR) is influenced by the
efficiency of the pump.

261 A B3 1% 08 State in clear text in the order:
- IEZhTh® P (kW) — drive power P in kW

— f£3hM B n (rpm) - drive speed n in rpm

— TR Qv mex (/min) — manx. flow qv max in Umin

ERFEHERE, RINEMTE/MIIER,
After clarifying the details a power diagram can be created by our

computer,

i 320 bar
83

d g REEE
RE A
b

4!

H 60 bar

Vg min #iik Displacement —m= Vg max

Lrifi 2% M Circuit diagram LR
##% Size 40------145

lllllll

$HSize 190-+++-260




LR- ThERH Power Control

LRD #HEE 8 rhEiZEs LRD Power control with pressure cut—off
WEHEEEN, EAVERNREREEEEHE Vom IEHES,

The pressure cut—off commesponds to a pressure control which adjusts the pump displacement back to Vgmin, when the pressure setting
is reached.

ZINREHAIER|ThERER], BMETIEE DA, ThRMEER.
This function overrides the power control, i.e. below the preset pressure valus, the power function is effective.

O ThREE R AR ITRERh, HEW s E BN EE-
The pressure cut—off function is integrated into the pump control module and is preset to a specified value at the factory.

S EIEEAM 50 B 350 bar Setting range from 50 to 350 bar

LRD $#{% Characteristic LRD LRz @A CIRCUIT DIAGRAM LR
W& SIZE 40-----+145
"R E T1l 2 ,J: ? , “?" Y Iﬁ‘
Y A vﬂ-““_:vgm .................... |
%0 i [Nk f i3k
mn : . . —! |
R Ts My S
##& SIZE 190------260
WL U 7]
o mm— v - o i I
7T i
1 I Sy AT )




LR- ThEE#EH Power Control

LRDS #8 E Ar il £ S 8 Sr Y Th R f= g LR 2B Circuit diagram LR

LRDS Power control with pressure cut-off and load sensing ##& Size 40-----145

PR D PR ——— .t x -
#, BRBEHITHORERRATRER.

The load sensing control is a flow control option that operates |
as a function of the load pressure to regulate the pump i
displacement to match the actuator flow requirement.

R IR T R AR O RSRTHIG 2 F SN B R R 1 ik
FL(1) RERIRE . IR SET o002 th R E LI B RAR

RITHEEANARENTX, Ty

The flow depends here on the cross saction of the external -

sensing orifice (1) fitted between the pump outlet and the R

actuator. The flow is independent of the load pressure below '

the power curve and the pressure cut—off setting and within the ':‘

conirol range of the pump. = =
BRETRILERI—1T82MHAE0 A RENS 0 (EFIR)

F R REEANERE T B RILAFORER, MR I . e =

2 TREHR, A " A SR

The sensing orifice is usually a separately arranged load R Tg Mi S

sensing directional valve (control block). The position of the
directional valve piston determines the opening cross section
of the sensing orifice and thus the flow of the pump.

¥k Size 90------260
MR R N TRFLAlARED, FERBRITFLRY B g
B8 (EZ/p), MTERREESEE, adiB R
The load sensing control compares pressure before and after i
the sensing orifice and maintains the pressure drop across
the orifice (differential pressure A p) and with it the pump flow
constant.

MR LR EEAp X, RUEE (FE Vomn), M0
REE Ap#/h, WREH (@S Vems), EBMARBETLL T

B RS o
If the differential pressure A p increases at the sensing orifice, =
the pump is swivelled back (towards Vg min}, and, if the differential |
pressure A p decreases, the pump is swivelled out (towards Vg max) H
until the pressure drop across the sensing orifice in the valve is ! :
restored. : R

A ApA=pusi-parE A Doifce = Ppump — Pactustor

Ap B8 E S 7E 14 bar #125 bar Z [, , - _ §
The setting range for Ap is between 14 bar and 25 bar. R Ts M1 S

FrAEEREIGE ) 18 bar, (TR, HRIAXAEUER).
The standard differential pressure setting is 18 bar. {Please
state in clear text when ordering).

FITIRET (BEYHRFLEL &R EHER AP
. 41 LRADS Characteristic LRDS
The stand-by pressure in zero stroke operation {sensing arifice

plugged) is slightly above the A p setting.

[
[=-4--

AR LS RB4cdr, ENYE R ERERERITEH SR, EUDV
(REXH) &#Zd, ENVH=BEAEZELUDV ERERE .,
In a standard LS system the pressure cut—off is integrated in
the pump control. In a LUDV (flow sharing) system the pressure
cut—off is integrated in the LUDV control block.

TiEmEA pe (bar) —=
Operating prassure pe In bar §

(1) BRTIRIL GEHIER) FERMESEEA.

(1) The sensing orifice {control block) is not included in the
pump supply. 80




LR- ThERH Power Control

LR... HITIZROLZZAIThRZH
Power control with stroke limiter

ITREBASET A TER M EHTEE T R R HE

K. fiREREAZEMOY MERED ps (BK 40 bar) ZE
LAH fRegiE{E A 2 Pl ik ayiE $ R LRU higH,
W 12V (U1) 524 V (U2) AYELAE R S ) He 61 i Bk

The stroke limiter can be used to vary or limit the displacement
of the pump continuously over the whole control range. The
displacement is set in LRH with the pilot pressure ps: (mao.

40 bar) applied to port Y or in LRU by the control current applied
to the proporiional solenoid. A DC current of 12V (U1) or 24V
{U2) is required to control the proportional solenoid.

DREHERTE R SERHITREEE, R i &%
hRGER, HHRBEFIRRNESENEH. HigEikR

BN SE AT RGHER, DRDERBEE I EENE
SRTIERVINAER

The power control overrides the stoke limiter control, i.e. below

the hyperbolic power characieristic, the displacement is controlled
by the control current or pilot pressure. When exceeding the power
characteristic with a set flow or load pressure, the power control
oveirides and reduces the displacement following the hyperbolic
characteristic.

ATARVTFREREZRAMNEERERE Voma B Vomn #RE, BT
ITEMRARE LRU1/2 M E{TEMR A% LRH2/6 %8 32 30 bar
MmMNEBES .

To pemmit operation of the pump displacement control from its
starting position Vg max t0 Vgmi, 2 minimum conirol pressure of
30 bar is required for the electric stroke limiter LRU1/2 and the
hydraulic stroke limiter LRH2/6.

PrilEBl E AR B AR ERSMIMEMES G EOREBESD.
The required control pressure is taken either from the load
pressure, or from the extemally applied control pressure at the

G port.

ATHRERERIEENTTERAMETE, SSHMA

G #8530 bar BYSMAGEBIE S,

To ensure functioning of the stroke limiter even at low operating
pressure, port G must be supplied with extemnal control pressure
of approx. 30 bar.

i£H Note:

MREFEGREEMMERES, BEiZFEHEN.

If no extemal control pressure is connected at G, the shuttle
valve must be removed.

F5& Note:
ZEHEEPAR RN EHIERegE
The spring retum feature in the controller is not a safety

device

BHEFANRERTESEABRY (RERRR, BRE
HYEEMSTRY) FEATEMCE. WM, MHEaHEE
THEZEOERERBEERNTIR

The spool valve inside the controller can get stuck in an
undefined position by internal contamination
(contaminated hydraulic fluid, abrasion or residual
contamination from system components). As a result,
the axial piston unit can no longer supply the flow
specified by the operator.

REZTWECEAONE L RERMIEE, RUSTESD
HfTRBERLMUR (NRABN),

Check whether your application requires that remedial
measures be taken on your machine in order to bring
the driven consumer into a safe position (e.g.
immediate stop).



DR - EE 7## Pressure Control

AEEREBEARAT, EHEBBRERLEHTER RS
BERGNMEHEE. BRFEREHBITRTEARE

e MRITIEERMEHERNERNEFRPIEMNEES,
AR ERER, EFENREN/IKE,

The pressure control keeps the pressure in a hydraulic system
constant within its conirol range even under varying flow conditions.
The varable pump only moves as much hydraulic fluid as

is required by the actuators. If the operating pressure exceeds
the setpoint set at the integral pressure control valve, the pump
displacement is automatically swivelled back until the pressure
deviation is comrected.

HERSAEBUE: Voma
Starting position in depressurized state: Vgmax

15 ML 50 B 350 bar,
Setting range from 50 to 350 bar.

$#$t. DR Characteristic: DR

e L A ;
g 4 ‘
3 — |
N &
H r—— 2 A

Y

5 ———

min
0

felk qv (Wmin)  —=

Shi MR Circuit diagram DR
#¥k Size 40------145

B =
Ul + L
o o ] . i
MES
) Vg max Vg min
I,"\,_‘ [ Frrmssnemsann e 4
| H :
[N !
i i ' fooed
{'"—'Lr"; oo,
R To My S
##E Size 190---++260
-t H
- 2 :
T1 M
5 T = it
e :1--. ammm ---?u-:u-!
Y v | Vo Vg
(! =
! o ;
[Nz !
: —
R Tp M1 S




DR- I1#E#EH Power Control

DRS #H Syt B B ay 12
DRS Pressure control with load sensing

HERAEHRRE—MEAAEE N BMETHREHEHIE
%, DHRBEHTVARERRIBYREER,

The load sensing control is a flow control option that operates
as a function of the load pressure to regulate the pump
displacement to match the actuator flow requirement.

ik R T REARH OMBITHH 2 E RN RE AT i
L) EIRE. ZiklRS{ETEHNEE IR RS IER
ARNAREDER,

The flow depends here on the cross section of the external
sensing orifice (1) fitted between the pump outlet and the
actuator. The flow is independent of the load pressure below
the pressure cut—off setting and within the control range of the

pump.

BETHRILEEA—TAMAERNAREEA BN (ERR)
FEREZERAERE TRENHILANFORERE, Mk
ETRMFR,

The sensing orifice is usually a separately aranged load
sensing directional valve (control block). The position of the
directional valve piston determines the opening cross section
of the sensing orifice and thus the flow of the pump.

N T bR TR LA ENED, FERRRIET LAY
M (X Sp), AMERRERFEE.

The load sensing control compares pressure before and after
the sensing orifice and maintains the pressure drop across
the orifice (differential pressure A p) and with it the pump flow
constant.

RN LA E AP K, RUKEE FAE Vomn), il
REE Ap @, WFREH (W5 Vome), HEBIMABRTLLE
AEMMS

If the differential pressure A p increases at the sensing orifice,
the pump is swivelled back (towards Vgmn), and, if the differential

pressure A p decreases, the pump is swivelled out (towards Vg mex)

until the pressure drop across the sensing orifice in the valve is
restored.

Apr =ps - PasrF A Poiice = Ppump — Pactuator

Ap B9i& EIEETE 14 bar M 25 bar Z i,
The setting range for A p is between 14 bar and 25 bar.

PR EERE G 18 bar, (ITMEY, HRIRASCENER/).
The standard differential pressure setting is 18 bar. (Please
state in clear text when ordering).

% Efiﬁéﬁ (R TRFLEL) FR&EBENHEApE
EiH.
The stand-by pressure in zero stroke operation {(sensing orifice

plugged) is slightly above the A p setting.

(1) BRTRFL (TR FERBRTEEM.
(1) The sensing orifice {control block) is not included
pump supply.

in the

LRi# M Circuit diagram LR

#1#% Size 40------145
X
HE.: LA )
I M A
= it = el
T s — :
|._||'. L.Jl Tt '""'“"""“---——————E-———--______
L Vg_mﬂ "-’Emin .
rﬁ"a :i‘ P —— T =
| B I
! B e |
Fﬂﬁ? ol E
R T - Mi . g
#Hi#k Size 190-+---+260
X
L+ Sy (ol Yo
b=t ........H‘:T ..... J H

$5¥: DRS Characteristic DRS

. o, max <3 *
g: re 1 7 )
8¢ s =
R E )
u
Hi ——— ——*

Ez min ____"__“

i#e i qv (L/min) —-



DR - EE 7## Pressure Control

DRG iZi@EHiEH
DRG Pressure control, remote controlled

ERENEHDEEVNHETIETERRRNENSA (1) 18
FEMEE, ERESHEETEWRRTNEEDRL

Ak
The remote control pressure cut—off regulator permits the

adjustment of the pressure setting by a remotely installed
pressure relief valve (1). Pilot flow for this valve is provide by
a fixed orifice in the control module.,

15 W35 M A 50 B 350 bar,
Setting range from 50 to 350 bar.

Sk, EESMBRIERT 2/2 MTTR M (2) AT LR SR P &
REMRE.

In addition the pump can be unloaded into a standby pressure
condition by an extemally installed 2/2—way directional valve

(2).

WA ThRERT LRI (E A E SR (S HE).
Both functions can be used individually or in combination (see
circuit diagram).

MR ARIR—E L,
The external valves are not included in the pump supply.

e R (1), BINEE:
DBDH 6 (FaH2H), $M RC 25402

As a separate pressure relief valve (1) we recommend:
DBDH 6 (manual control), see RE 25402

¥51: DRG Characteristic: DRG

) max ;
—~ 3901 i
3 | 3
a g _______ °
..F:
=

il "
H | — A

Y

50 - .

min
0

#ilk qv (LUmin)  —»

ER: ZEEFHENVEETES LR, HD fEP A&,
Mote: The remote controlled pressure cut—off is also possible in
combination with LR, HD and EP.

i MBRG Circuit diagram DRG

>
xE_.._._.____._.__.l
; __i:::ii::EEEEEEEEEE}"'
T:I' : ] M'.'""" IA
P | — — Y
v ‘.'grqu"\fgm
A f; 5
[ = ¥
i ! E frmmmen o i
"El_i_ﬁ'i N o] "'._. L
R To M: S
Kk Size 190::+-- 260
(2) %‘ {1
i F “"’j CEE R
T.ﬁ--- ,---,,,,--..,.-.r,_._._._._,; __________ .

-----------------------

\ Vgmax ~ Vg min
e pen 3
i i
- 1
akiry G u E L
R Tp M¢ S




EP - FHMRBRHNBRSER
EP - Electric Control with Proportional Solenoid

il L PRk R E TR, SRR L SR EP1/2%4E Characteristic EP1/2
FAR, \MEaHES, EREANESRENEEN

L -t
With the electric control with proportional solenoid, the pump
displacement is adjusted proportionally to the salenoid current,
resulting in a magnetic control force, acting directly onto the
control spool that pilots the pump control piston.

8

g

EP1

M Vomn ZE Vogmex B9#2%  Control from Vg min to Vg max

3

EHER | (mA)

Control current | in mA
|

n
3

REEEGIRRREN, RATERLCHR,
With increasing control current the pump swivels to a higher
displacement.

AmEEE SRRt R (R H EK):

- ETEEAIMEEHIES < 30 bar Bf: Vgma

- ETEENEIEEEBIES > 30 bar BF: Vgmin
Starting position wthout control signal {control current):
- at operating pressure and extemnal control pressure
<30 bar: "'fnm

- at operating pressure or extemal control pressure 0 05 10
> 30 bar: Vgmin vg min H i Displacement — Vg max

@
&

EP2

S
3

WEMAESBEE Vi BE Vormn BE 30 bar N 8IE S,
A control pressure of 30 bar is required to swivel the pump

from its starting poeition Vg e 1o Vi, EP1/2 #2%R Circuit diagram EP1/2

#M#E Size 40... 260

ARG E 1B md E et iEmes G i O mES ER
A THREREARTIEES (< 30 bar) FHAT#ITES, S8 a4 i
wfih O G BijmY 30 bar BSMBESIES
The required control pressure is taken either from the load T4 N 1 GM A
pressure, or from the externally applied control pressure at i 2N L T E*
port G.To ensure the control even at low operating pressure | i 5 oy
< 30 bar the port G must be supplied with an extemal control ‘ 117 e | T ~V o -
pressure of approx. 30 bar. ¥ . Vo max Vg min i

' AN $ E——— T

! o 5 ]
B Note: | S ]
MREGRFERIIBEMES, HiZFIRN, I ' ;
If no external control pressure is connected at G, the shutile e B { :
valve must be removed. L) LS =0
IR Note:
R 40 Wi R 75 i v b A0 iR DY K 80°C ARk
e hREHH EP EHNER,
Install pump with EP control in the oil tank only when using BB, EP1, EP2 hRUraREEk
mineral hydraulic oils and an oil temperature in the tank of max. Technical data, solenoid at EP1, Ep2
80TC. EP1 Ep2
12V(x20%) | 24V(x20%

SRR FIOH B TR SR R L BU ke (LTS R mHVotage ok i
www.boschrexroth.com/mobilelektronik) : #2BlR.#Control current
The following electronic control units and amplifiers are HEh Vomin B RD SIS FIA{E 400mA 200mA
available for actuating the proportional solenoids (sse also Start of control at Vgmin
www.boschrexroth.com/mobilelektronik):

S HRIEE IS (HES Vo max BY) — S00mA
— BODAS ##{%§ RC BODAS controller RC End of control at Vome
R ¥ Series 20 RD 95200 BR 3 F8 i Limiting current 1.54A 0.77A
# 7| Series 21 RD 95201 / .
# % Series 22 RD 95202 iﬂ;ﬂ:r[;ﬂ ca) at 20° 5510 22.72
%5 Series 30 RD 95203 nal necydtancs (620" G)
FEY A%k and application software #h3%# Dither frequency 100Hz 100Hz

JaEh it ie] Actuated time 100% 100%
— B3I X 7% RA Analog amplifier R RC 85230




EP-%5 bt e B 8k i) R S $
EP - Electric Control with Proportional Solenoid

EP.D & E A {18 a0 B FHEH
EP.D Electric control with pressure cut—off

HEPETQEE, EAUENERFEARERYE Vomi RIE
518l

The pressure cut-off cormesponds to a pressure control which
adjusts the pump displacement back to Vg min when the
pressure setting is reached.

EZrhetEiied EP 2HE, HSHREHA XN RRER
FiaBENHTIE,
This function overrides the EP control, i.e. the control current

related displacement control is functional below the pressure
setting.

EAVGRERERMRETR, HEH A EEERNR
EEE
The valve for the pressure cut—off is integrated in the control

case and is set to a fixed specified pressure value at the
factory.

8 B3 A 50 B 350 bar
Setting range from 50 to 350 bar

EOVESED
Pressure cut—off characteristic D

:

;

_®X10bar ||

-

e gili
|

T{EEH pa (bar)

g-l

o

EP.D jli2%@ Circuit diagram EP.D
¥k Size 40...145

n.. g GM A
_________________________
1:; -
L Vg ax Vg min
AV =
¢ [
l‘_l.l.l."@ "' atke i
P Tr ._. L
W -Mf 5

$#5 Size 190:-+--260

]
:I'.'1‘.|j'i ool
L]

R Ta W _ : W




IMERST Bk 95

Dimensions size 95

LRDCS

WAEAVIE D, EXEEEEHCARBNESH S HThREHLR
Power control LR with pressure cut—off D, cross sensing control C and load sensing control S

*} Bl
i 292 2 *) Center of gravity
284 . HEY ViewY
! 155 iR $HHESE clockwise rotation
149" (HEFEHRE%E) (counter—clockwise rotation)
48 £ / :
s "']': .I’ P -L l

12.7 - 1 il L'_i/ﬁﬂz

Ts)
l A N T
= @ by $$\ :E“"% Y
| [-JH------3 A - \
=
& LA
& - S)
SEEGAE J744 R M;
152-4 (D)
%2 SAE 1617 7
_ 180 W (SAE 3) 16l
20 101]]
:J To ¢S ThIE
Z il i
3 A A ] (T
ﬁf%

2409.58 1)

2428.62 1)
2385
2130

2101

2451

‘ 75 \
108.5
|
o 2>
~d
it
25
572

619 27.8

1) #& SAE J617-No. 3 IR, ATFERSABIN WRTE
1) Dimensions according to SAE J617-No. 3, for connection to the flywheel case of the combustion engine




IMER~T M 95

Dimensions size 95
% Shaft ends
Z #¥& DIN 5480 gkt P 54 DIN 6885 B Egk%h - S SR SAE J744
WA45x2x30x21x9g As14x9x80 13/4in, 13T 8/16DP3
50 e 67
| lss - 82 o Lss
o 12 ) S|512.
= | 3 % DIN509 @ I
= = |
5 3 59 | _ 2 =)
E E - ' S m:
60 80 79
#MH Ports 45 Standard $0% Size? BAEA(bar)’| M State
A LIEEr O Service lineport | SAEJ518 1in 400 o
] 2 W& Fixing thread DIN 13 M12x1.75: 17 (m’}
S % il A Suction port SAE J518 3in 30 5
&l M RFixing thread DIN 13 M16x2; 24 (%)
1! E¥ 0 Tank port DIN 3852 M26x1.5; 16 (%) 10 5)
R HE* O Air bleed DIN 3852 M26x1.5; 16 (%) 10 X
AR, EAEK
M1 Measurement point, positioning| DIN 3852 Mi12x1.5; 12 (i) 400 X
chamber
A, T/EERMO
M Mar?summant point, service line| DIN 3852 M12x1.5; 12 (B) 400 X
po
SSEAMO
X LEFFHREREHN (S)MEEED | DIN 3852 Mi4x1.5; 12 (B) 400 (o)
KA 918 (G) &8 h
S EAMO
Y ZEEFTEMMMEH...). 24 | DIN3852 M14x1.5; 12 (&) 40 (o)
K Yl (E) #1 HD A S H
ERHERE (C) R
: 400
r.d RIS (LR3) DIN 3852 M14x1.5; 12 (&) o O
ThERRES (LG1) E B+
SIS .
T H.., U2). ;
G emeres GE10- PLM BgHp| DIN 3852 M14x1.5; 12 (&) 40 o)
# EP W& S (TN 3<H)
1) #& DIN 332 #RAERIh L (554 DIN 13 ZRE AR EL) 1) Center bore according to DIN 332 {thread acc. to DIN 13)
2 A AKENE, REFRESNE140 T Lry— 2) For max. tightening torque, please refer to general notes
i AA on page 140
3)ANSI B92.1a-1976, 30° EhHfa, FiFiR, ERE, 3) ANSI B92.1a-19786, 30° pressure angle, flat root, side fit,
DNBEHS tolerance class 5
4) BEETEEANTIEERES 4) Depending on adjustment data and operating pressure
5 BIBEREAENARE, HPEEETIEHT2 5) Depending on installation position, T1 or T2 must be connected
O=#T7F, HHAEE(EHAMEEL) O = Open, must be connected (closed on delivery)

X = %@ (FIERIEITH) X = Closed (in normal operation)




MR #H 95

Dimensions size 95

LRDU1/LRDU2 EP1D/EP2D
WA ED AR FiTERASNT RS (ERNSE) A e G Bk AE IR BT
Power control with pressure cut—off and electric stroke Electric control with proportional solencid and pressure
limiter (positive characteristic) cut—off
202 262
262 . 262

315

180

174.9

114.8

—
@ ol
©_

97

DRS/DRG

WA R B R BIE R E E
Pressure control with load sensing control

Pressure control remote controlled

256

o1

137

1

115




IMERST B 130/145

Dimensions size 130/145

LRDCS
WHENIN D, TXBHEGE CRIARBARS S REHE LR
Power control LR with pressure cut-off D, cross sensing control C and load sensing control S *) B
313 *) Center of gravity
WEY ViewY - 23
JRES§HH8%% clockwise rotation 109
(Ert§13ERE) (counter—clockwise rotation) Z X
21 :
12.7
o
@
< 73
3 D
®
Ty}
@«
iE=SAE 1744
152-4 (D} 2)
B SAE 1817 305 (A11VQ) / 853 (A11VLO)
(SAE 3)
| i
i
©
3 |28
AEIEREE
T33RES
'}
AEmER HimER
W o) R V [E/mREiLE W /R E vV [E R E
310 _ 310 _ 358 358
265 266 287 244

5%
|
&

|_|

B= | N b

$| ' i | &1‘6\ |
I ﬁ- Y - ey

¢' ,.ﬁ?ﬂ - .ﬂi.' —]ﬂ
e .

_61.9 _ 278 61.9 31.8

1) & SAE J617-No. 3 IR, ATEERENBIN IEHE

2) WA A= SAE 3 B REUIC IR ~T iR RIS 5 mm,

1) Dimensions according to SAE J617-No. 3, for connection to the flywheel case of the combustion engine
2) The case or length dimension with flange SAE 3 is 5 mm shorter than the standard cass.

15
106.4
6&
|
|
57.2
|

|_-.
F

75
106.4
B

I
I
I
I
| 66.7

05

]




MR Mk 130/145

Dimensions size 130/145

¥ Shaft ends
Z ¥4 DIN 5480 Ot P £F& DIN 6885 RY = g2 S fEfEth SAE U744
W50x2x30x24x9g AS14x9x80 13/4in, 13T 8/16DP3)
55 - 67
<~ |36 o 2 . “é 36
ol 12 G S| 12
& = o ed 12 E1x0.2 =TT
= r* % DIN509 2 |
! - e| | — L3
E i S g | = = Ig
‘E % Co) 1 = M,
55 -
90 75
M Poris 7% Standard HAE Size? BAEH(bar)?| 7% State
A LYEERM O Service line port | SAEJ518 1in 400 o
Eﬂﬁ Fixing thread DIN 13 M12x1.75; 1?{ﬂ}
A, LAEEHM DO Servicelineport | SAEJ518 11/4in 100 o
ElZE ML Fixing thread DIN 13 M14x2; 19 (%)
S kO Suction port SAE J518 3in 30 3
S BElER&Fixing thread DIN 13 M16x2; 24 (8) 26
_:F; [Elif A Tank port DIN 3852 M26x1.5; 16 (Z¢) 10 5)
R Hi*{O Airbleed DIN 3852 M26x1.5; 16 (BF) 10 X
MRS, EARK
M: Measurement point, positioning| DIN 3852 M12x1.5; 12 () 400 X
chamber
MRS, TEERRD
M Me?suramant point, service line| DIN 3852 M12x1.5; 12 (&) 400 X
por
ESEAMKO
X EFFHBEMN (S)MinEES | DIN 3852 M14x1.5; 12 (#R) 400 0
EAH 1t (G) HBEISH
SESEHMO
Y EHETEBREE(H...). 24 | DIN3852 M14x1.5; 12 (%) 40 O
E71 P& (E) #1 HD py& S
ERAERBA ()R
; 400
Z ThERIiE S (LR3) DIN 3852 M14x1.5; 12 (B) e O
ThERBIIES (LG1) (B S
ERRARE (1. U2), %
G BN L GEm—“i"LMEﬁiHD DIN 3852 M14x1.5; 12 (#) 40 O
1 EP (& Eh (FNXH)
1) # DIN 332 FR/ERI D FL (18 DIN 13 FRERE L) 1) Center bore according to DIN 332 (thread acc. to DIN 13)
) FXMAREHE, RENAKRSLE140 T E— 2) For max. tightening torque, please refer to general notes
g UL on page 140
3)ANSI B92.1a-1976, 30° Ehfa, Fi5iE, AERE, 3)ANS| B92.1a-1976, 30° pressure angle, flat root, side fit,
NREES tolerance class 5
4) BIB|APYIERNITEES 4) Depending on adjustment data and operating pressure
5 HIERKMNENARRE, HHAEETIHT2 5) Depending on installation position, T1 or T2 must be connected
) imiER 6) with charge pump
O =T, HEERE(EHHEEL) O = Open, must be connected (closed on delivery)
X=XH (FFIERIEITH) X = Closed (in normal operation)




IMERST #Hk130/145

Dimensions size 130/145

LRDU1ALRDU2 EP1D/EF2D
A BN T TR R SR DR S (ERRE) A ot e RN I h (DB RO TS
Power control with pressure cut-off and slectric stroke limiter Electric control with proportional solenoid and pressure
(positive characteristic) cut—off
313

283

184

115

H | w8
l &, =
EI[_[@ 2L 2w

—— e ke —

105

1056

DRS/DRG

A ARBNEHNEESERENE
Pressure control with load sensing control
Pressure control remote controlied

276

112

m{ R © ‘*}R
VLM e R O I

|

|
jr_.h.ﬂ |
166

118




IMERT Mk 190

Dimensions size 190
LRDCS
WHEAVHRD, TEXBNEG CHASMAES Sph#EES LR
Power control LR with pressure cut-off D, cross sensing control C and load sensing control S *y B
378 _ *) Center of gravity
203.5 JEY ViewY
= 1805 = WWEtEHEEE: clockwise rotation a4
1707 1 rotation) 107 y4
Y, / / X
15.9
D
= Ty ©
§ = Y A | S
s (S) (A)
o - To
2 +_
&N
sk SAE 1744 - 2245
165-4 (E) W | 262.5 !
318.8 { i&=SAE J617 341.8 (A11VQ) /390 (A11VLO) 2
189.8 X (SAE 3) 16 _
TQ Z 5 10
™5 i
DEC ¢ &
E - =
3 - R
- M blaoo B s
e s T3ZRET L-
: 3468 1 A
ty
AR MR
W E S E vV EEAEE W @S5+ E V @SS E
346.8 346.8 395 395
281.3 281.3 319 F 972
o\ o ] O ]—1
| O @‘\ ] @‘ l Q| Oy
B P o~
-%--aa A )18lE S - )[{8|8 - - i 8lz
= r 1 O G;_‘,.r r OO
o1 o o ofj— £
69.9 J ~38.5 69.9 N 365

1) & SAE J617-No.3 BIR~F, AT EEZE NBPLey sidsik
2) #5752 SAE 3 YRR 1 B R ~F LbiR s k48 5 mm,

1) Dimensions according to SAE J617-No. 3, for connection to the flywheel case of the combustion engine
2) The case or length dimension with flange SAE 3 is 5 mm shorter than the standard case.




MERT s 190

Dimensions size 190
% Shaftends
Z ¥4 DIN 5480 piiE 8% P %4 DIN 6885 FIFE &%, S Lk SAE J744 T #4841 SAE J744
W50x2x30x24x9q AS16x10x100 13/4in, 13T 8/16DP 2in, 15T 8/16DP3
67 80
e - 108 E 36 E 36
M 2 e 5 2] =R
o 12 m% 16 E02 & =
z i s 2 2
i L= . 1 >
| 1 © = © . g
5 2 z3 8 % g |
s S R25/| R4
i
il
85 : 75 88
WO Ports i7# Standard A& Size? Bk EN(bar)’| 3R State
A I{FEMAEO Servicelineport | SAEJ518 11/2in 400 o
A1 Eﬂﬂ Fi}ﬂﬂg thread DIN 13 Mi16x2: 21 [ﬂ}
S il O Suction port SAE J518 31/2in 30 %
S1 EEMAFixing thread DIN 13 M16x2; 24 (38) 2"
1 El¥ O Tank port DIN 3852 M33x2; 18 () 10 5)
R #O Airbleed DIN 3852 M33x2; 18 (%) 10 X
AER, iRk _
M1 Measurement point, positioning | DIN 3852 M12x1.5; 12 (&) 400 X
chamber
A, THEEFH®RO
M Mar?suremantpnmt, service line| DIN 3852 M12x1.5; 12 (2§) 400 X
po
EREHEDO 400
X EHAANEN (S)FMEESHE | DIN 3852 M14x1.5; 12 (8F) 0
E# 4167 (G) mBESH
EBEAMO
Y EBHITERMEH(H...), 24 | DIN3852 M14x1.5; 12 (%) 40 0
K5 ViE (E) M HD mBISH
Egggggﬂi (C) # 400
Z ThRBIIEH (LR3) DIN 3852 M14x1.5; 12 (&%) 40 O
RBESE (LG1) B S
R (. U2), #
G cimorwis GE10- PLM i Hp| DIN 3852 M14x1.5; 12 () 40 0
#1 EP pyE B dh (T HA)
1) #4 DIN 332 2R 0L (754 DIN 13 AR 1) Center bore according to DIN 332 (thread acc. to DIN 13)
AR ARKEHE, REWALiwELE140 I EM— 2) For max. tightening torque, please refer to general notes
%88 on page 140
3) ANS| B92.1a-1976, 30° E1fs, &R, EES,  3) ANSIBS2.1a-1976,30° pressure angle, flat root, side fit,
PNEBES tolerance class 5
4) REFATHEENTERS 4) Depending on adjustment data and operating pressure
S)RB|RWABIARE, HAZTETIHT2 5) Depending on installation position, T1 or T2 must be connected
B)H MR 8) with charge pump
O=§1F, DMz (EAHCHEL) O = Open, must be connected (closed on delivery)
X = R%H (LEEERIEFTH) X = Closed (in normal operation)




IMERT 190

Dimensions size 190

LRDU1/LRDU2 EP1D/EP2D
HAEAVHNETTERABNTIREH (ERSHE) A L O FR R Bk 0 R DI A B T
Power control with pressure cut-off and electric stroke limiter Electric control with proportional solenoid and pressure
(positive characteristic) cut—off
379
321.5 . 979

321.6

|
| ==

2275
18756

142.5

1425

N

DRS/DRG

HE ARSI EhEEERE
Pressure control with load sensing control
Pressure contral remote controlled

378

223

e

| %@g
: X

178




iESE R R~ Through Drive Dimensions

2% SAE J744 - 82-2 (A) 5/8in, 9T 16/32 DP" (SAE J744 — 16-4 (A) KO1
HFLEmn e, 54 ANSIB92.1a-1976 3/4in, 11T16/32DP" (SAE J744 - 19-4 (A-B)) K52
A2 . A1 A2 A3
Size KO1 K52
40 240 | 240 | 8 M10x1.5; 15 (3)
60 257 | 257 | - M10x1.5; 15 (BR)
75 275 | 275 | - M10x1.5; 15 ()
95 306 | 306 | - M10x1.5; 12.5 ()
180/145 | 329 | 3290 | - M10x1.5; 12.5 (R)
130/145* | 363 | 363 | - M10x1.5; 12.5 (i%)
190 359.8 | 359.8 | - M10x1.5; 13 (%)
190* 8394 | 394 | - M10x1.5; 13 (3%)
260 3g5 | 385 | - M10x1.5; 13 (3¥)
260" 427.3 | 4273 | - M10x1.5; 13 ()
HEENERNHES
# 2 SAE J744 - 101-2 (B) 7/8in, 13T 16/32 DP"” (SAE J744 - 22-4 (B)) K02
BF e, 54 ANSIB92.1a-1976 1in, 15T 16/32 DP" (SAE J744 — 25-4 (B-B)) K04
RFERENEHEE, 54 DIN5480 W35x2x30x16x8g K79
i 40 M 145 FRTLEER A2 ma | Al A2 A3’
J 0-Ring? Size | K02 | K04 | K79
A 40 244 | 244 10 | M12x1.75; 19 (&)
. 60 261 | 261 | 261 | 10 | M12x1.75; 19 (%)
A3 ,;1-."'-,! L 75 279 | 279 10 | M12x1.75; 19 (&)
|=| § 95 303 | 303 [ 303 | 10 | M12x1.75; 16 (®)
?*.!'ffﬂl - 130/145 | 326 326 326 10 M12x1.75; 16 (B§)
£ 130/145*| 360 | 360 | 360 | 10 | M12x1.75; 16 (&)
190 |371.8| 369.8 [361.8| - M12x1.75; 15 (BR)
190* | 404 | 404 | 394 | - M12x1.75; 15 (88)
1L o 260 | 395 | 395 [ 395 | - | M12x1.75; 15(®)
25404 100 1 260 w1, ﬂ#ﬁﬁiﬁiﬁggjﬁ“ ! 260* |437.5| 437.5 (437.5| - M12x1.75; 15 (38)
“YHAENERDAE
jh X SAE J744 - 127-2(C) 11/4in, 14T 12/24 DP" (SAE J744 - 32-4 (C)) Ko7
AFiteinEaeE, &4 ANSIB92.1a-1976 11/2in, 17T 12/24 DP" (SAE J744 -38-4 (C-C)) K24
TR0, &4 DIN 5480 W30x2x30x14x9g K80
W35x2x30x16x9g K61
19 Al A2 A3”
Size | K07 | K24 | K80 | K61
60 272 | - | 265 | 265 | 13 | M16x2; 20 (#®)
75 200 | - | 283 | 283 | 13 | M16x2; 20 (®)
95 318 | 318 | 318 | 318 | 13 | M16x2; 16 (FF)
130/145| 330 | 330 | 330 | 330 | 13 | Mi16x2; 20 (F)
130/145*| 364 | 364 | 364 | 364 | 13 | M16x2; 20 (BF)
YHEENERNES

181
213

il
—

EREEE
# & Note:

BREZAREN0° , FEASOENT, NRBEHUFAXEREHR,
The mounting flange may be turned through 90° . Standard position as illustrated. Please state in clear text if required.

1)30° EAfa, TiER, MARS, 22845 30° pressure angle, flat root, side fit, tolerance class 5
2) O HK, EREXHEEM O-ring included in the delivery contents
3) DINB,FxBXREHE, RERALESILE140 I _Ery—MixEA

DINB, For max. tightening torque, please refer to general notes on page 140

¥




i#5h8E %1 R~ Through Drive Dimensions

72 SAE J744-127-2+4 (A) 11/4in, 14T 12/24 I‘.JP:’ (SAE J744 — 32-4 (C) K07
EMEhEE, 54 ANSIB92.1a-1976 11/2in, 17T 12/24DP" (SAE J744 — 38-4 (C-C)) K24
EMEELEES, £74 DIN 5480 W30x2x30x14x9g K80

W35x2x30x16x9g K61

i Al A2 A3”
Size| Ko7 | K24 | KBO | K61

190 | 367.8 | 367.8| 367.8| 367.8| 13 M16x2; 19 (&)

190*| 400 | 400 | 400 | 400 | 13 Mi16x2; 19 ()

1156

260|391.5|391.5|1391.5|391.5| 13 M16x2; 19 (&)

260*| 433.5 | 433.5|433.5| 43.5 | 13 | M16x2; 19 (%)
NHEERERNES

$:2 SAE J744 -152-4 (D) 11/4in, 14T 12/24 DP" (SAE J744 - 32-4 (C)) K86
ERMEEE, TS ANSIB92.1a-1976 13/4in, 13T 8/16 DP" (SAE J744 - 44-4 (D) Ki7
R MEESIER, &4 DIN5480 W40x2x30x18x9g K81
W45x2x30x21x9g K82
W50x2x30x24x9g K83
- ik A1l A2 A3"
Size | K86 | K17 |K81|K82| K83
75 200 | - [290| - | - | 13 | M20x2.5; 28 (i¥F)
95 317 | 327 [317|317| - | 30 | M20x2.5; 25 (%)

161.6

130/145 | 340 | 350 | 340|340 | 340 | 30 | M20x2.5; 25 (&)
130/145*| 374 | 384 | 374|374 | 374 | 30 | M20x2.5; 25 (R)
180 392 | 392 |392|392|392| 13 | M20x2.5; 22 (#%)
190* 424 | 424 | 424|424 | 424 | 13 | M20x2.5; 22 (&)
260 417 |47 (417|417 | 417 | 13 | M20x2.5; 22 (FR)
260* 459 | 459 | 459|459 |458| 13 | M20x2.5; 22 (&)

VHEENERNBS

752 SAE J744 - 101-2 (E) 13/4in, 13T 16/32DP" (SAE J744 — 32-4 (C)) K72
MM, &4 ANSIB92.1a-1976 W50x2x30x24x9g) K84
LEBECEREE, 4 DIN 5480 AD W60x2x30x28x9g K67
i A1l A2 A3"
Size | K72 | K84 | K67
180 | 376.8| 376.8| - 19 M20x2.5; 20 (¥§)
190* | 409 | 409 i 19 M20x2.5; 20 (¥)

260 417 | 400 400 | 19 M20x2.5; 20 (ZR)

260* | 459 | 4425 4425| 19 | M20x2.5; 20 ()

N HEENEFRRHRS

Al b
EREERE

& Note:
RIFEE=FTREE0°  FEARNEAT, NRRERLRCKER,
The mounting flange may be turned through 90° . Standard position as illustrated. Please state in clear text if required.

1)30° EhfE, FiER, MARS, 28%85 30° pressure angle, flat root, side fit, tolerance class 5
2) O iR, AXELTHRIEMA O-ring included in the delivery contents
3) DINB,HXBAKEHSE, REFHAESAR140 I EA—MHA

DINB, For max. tightening torque, please refer to general notes on page 140




A11V(L)O f¥F#t:i# Overview of Attachments for A11V(L)O

¥ - —3R
A11VO 378 i SR =D
e ggg R® | arvo | ALDVO) | ATOVS) - asr0 | Asve | Atove | sima it
82-2 (A) &fa in K - 18 (U) 10 (V) o i s %Eﬁijrjz‘;’ 40...260
3/4 in K52 - 18 (S) 10 (8) - - - - 40...260
101-2(B) | 7/8in K02 - 28 (S, R)|28(S. R)|16, 22, 28 - 18(S) | #1EEK/AN| 40...260
45(U) M45(U. W) (S) Mk 20-32"|
HLEE K /] G
## 38-45
45 (S, R) B og(g) | 28+ 45 ~
1in K04 40 (S) |45(S. R)gq (Us W) (S) (S) 40...260
Was K79 40 (Z2) - - - - - - 40...260
. 71(S. R)| 60(8)" 40, 56
127-2 60 (S - B3 (S -
(C) | 11/4in K07 (S) 100(U) | 85 (U) 71(S) (S) 60...260
1 1/2in K24 = 100 (S) | 85(S) - = - - 95...260
w30 K80 - - - - 40, 56 (Z)| - - 60...260
40, 56 (A)
W = - = a -
35 K61 60 ({Z) 71 (@) 60...260
152-4 (D} | 1 1/4in K86 75 (S) - = - —~ -~ - 75...260
. 95, 130 90
i = = - = ~ 130...2
1 3/4in K17 145 (S) 140 (8) 125 (S) 30...260
w40 K81 75 (2) - - - 125 (2) - - 75...260
80.
K82 - - - - - 95...260
W45 95 (Z) 125 (A)
W50 K83 |130, 145(Z) - - - = E - 130...260
180
165-4 (E 1 3/4i K72 - - - 7 - - 190...260
65-4 (E) n 190, 260 (S) 250 (S) 90
W50 K84 190 (2) - - - 180 (2) - - 180...260
W60 K67 260 (2) - - - - - — 260
1) Rexroth #EFFHIVSERR., RIEBRESENA.
2) (NHH 4FLREEZM A10VO AT ZE A11V(L)O 180 1 260,
1) Rexroth recommends special versions of the gear pumps. Please ask.
2) Only A10VO with 4-hole mounting flange can be mounted to A11V(L)O 190 and 260.
HERA11VO0 + A11VO Combination Pumps A11VO + A11VO
BIEEA
A11VO —R
—R M40 | WHE60 | MHET5 | MIKOS5 | MW#R130/145 | MWiE130/145” | |M#E190 | M#&1907 | M#& 260 | M 2607
ik 40 ~ - - ~ - ~ - - - -
A& 60 490 507 - - - - - - LY =
M 75 - 525 550 — — - - = b s
M 95 528 560 877 604 — — — — — -
##& 130/145 | 551 572 600 627 650 698 —~ - - -
#M#% 130/145°| 585 | 606 | 634 | 661 684 732 ~ - - -
A& 190 586.8 | 609.8 | 652 | 679 702 750 723.8 772.3 - -
ik 190 619 642 684 711 734 782 755.8 B804.5 - -
¥ 260 620 633.5 677 704 7T 775 746.8 795.5 772 828
##% 260" | 662.5 | 675.5 | 719 746 769 817 789.3 838 814.5 870.5
1) HEA R TERR (TR) 1) Z 8 (8% DIN 5480) & EE B %
1) When using the Z shaft {(splined shaft DIN 5480) for the attached pump (2nd pump) 2
2) HEmMEHRLEEE Version with charge pump . —
%7 M E A FRA, Alee i
_i#:ﬁagﬁ%gﬁﬁﬁﬁ “r ﬁ&n 1L i s =t ANVO
—FTHRAE + ZFHITERE (—=) (—5%)
When ordering combination pumps, the type designations of the [— =1
1st and 2nd pumps must be connected by a "+". &
Ordering code 1st pump + Ordering code 2nd pump I A

iT#% 7 MOrdering example: A11VO130LRDS/10R-NZD12K61 + A11VOB0LRDS/10R-NZC12N00




L EWH Installation Notes

&R General

EEEQEEEE ;%ﬂﬁﬁﬁﬁ#ﬁﬁﬂﬂﬁﬁﬁﬁﬂ#mﬁﬂqu EEAFEEMRKH, CEETERERED, BARS
R v e

During commissioning and operation, the axial piston unit must be filled with hydraulic fluid and air bled. This is also to be
observed following a relatively long standstill as the system may empty via the hydraulie lines.

5h5% P A0SR Pkt v 5 LB L R R O (T1. T2) HER B . H0O S ARRMBNEHFF D) 0.8 bar BITE N (FHmE
) £ 0.6 bar (FEMER) LT,

The case drain in the case interior must be directed to the tank via the highest tank port (T1, T2}. The minimum suction
pressure at port S must not fall below 0.8 bar absolute (without charge pump) or 0.6 bar {with charge pump).

ERMAIAT, Bl WA EAait AN EPRERELTHES,
In all operational conditions, the suction line and case drain line must flow into the tank below the minimum fluid level.

RAEME Installation position
HWERUTRA, RERRUBWHERREH,

See examples below. Additional installation positions are available upon request.

EHETARER (5E) EHmE LT RE

AR T i i A Kl fr o EHETHRANRMEBAL,

BUARENE: 1502, T8 <F i K 4t VF IR v e

Below-tank installation {standard) hemax = 800 mm,

Pump below the minimum fluid level of the tank. = AIVLO(FEMER) AR RKEHB LITMEH,

Recommended installation positions: 1 and 2. REUE 72 (MEAE): MEEKFREPNLEN FR
& 73 0.5 bar) 7] B 1E 564K P #BHE M .

MFHaENEY ., HFRRSE. HD R EP BH %
&, BRAOAREEBEE Vo = 5% Vomaxs

Above-tank installation

Pump above the minimum fluid level of the tank.
Observe the maximum permissible suction height

hemax = 800 mm.

The version A11VLO (with charge pump) is not designed
forinstallation above the tank.

Recommendation for installation position 7 (shaft up): A
check valve in the case drain line (opening pressure 0.5
bar) can prevent the case interior from draining.

For control options with pressure control, displacement
limiters, HD and EP control, the minimum displacement
setting mustbe Vg = 5% Vgmax.




hemax =800 mm., htmin =200 mm, hmia= 100 mm. SB = jHE& & (&) Silencer plate (baffle plate)
HigitmEn, BAREEREAEKEATREZADFESNEEan., DBHEENANEREERETENGT RN,

When designing the tank, ensure adequate space amin between the suction line and the case drain line to prevent the heated,
returned fluid from being directly drawn back out.

Installe eesition| AT Air bleeding| 2 Filling Instalr L tion| T Alrbleeding| 2 Filling
1 T1 S+T1 5 L1+ L2 L2(S) + L1(T+1)
2 R S+ T2 8 R+ Lo L2(S) + L1(T2)
3 T1/T2 S +Ti/Tz 7 Li+ L2 L2(S) + L1(T1/T2)
4 R S+TdTe
FRFEWPEE Installation Notes
M E£E Tankinstallation
REThERNREHEE. Pump below the minimum fluid level in the tank.
8 9 10
lgebl AL e R AR <
' B =4 | sB T, R
_._ : = ) : SB | rs \4\
w \ by il || Pt min \ 4 ' ll &
- (P | LT T | C - Cibs
] ) I
E T E \ v ; 1 =)
/ i | S ! b
S N A 1" B
L s el | e s iy
L

Ns max =800 mm, htmin =200 mm, hmm= 100 mm.
SB = HE R (}448) Silencer plate (baffle plate)

HigitHEe, BRBRTENEEEHEREZAAESNERE amnn, BBk a0iE Bk b3 EE LR,

When designing the tank, ensure adequate space amin between the suction line and the case drain line to prevent the heated,
returned fluid from being directly drawn back out.

Installation position|F v Air bleeding H i Filling
g T EAFEFO T Ta.
9 R R #1 S #1008 8hilkeT .|
p MR EF RSN




#2218 General Notes

A11VO Figit HFFXEk$, The A11VO pump is designed to be used in open circuits.

MOHETHFNHERY. SENAELAHSHARET,
Project planning, assembly and commissioning of the axial piston unit require the involvement of qualified personnel.

T e RRh O FIhftm QMU T A T EREE . The service line poris and function ports are only designed to accommodate hydraulic lines.

BEITHERIETEARA, HEEETH (1932 R%EE) TREEEENGRRM, FEEEYMRSBHE (GnFERPR).
During and shortty after operation, there is a risk of bums on the axial piston unit and especially on the solenoids. Take appropriate safety
measures (e. g. by wearing protective clothing).

BEMOEETHENFARIERE (T/EES ., BERE), FETESME,
Depending on the operational state of the axial piston unit (operating pressurs, fiuid temperaturs), the characteristic may shift.

& 73 O Pressure ports:

g; HEERLGHT A TERAMERY , YIENARATEHSARFEEZCHNERNZLREEEMNERN TEES (RN, KR, BEERBR.
Jo

The ports and fixing threads are designed for the specified maximum pressure. The machine or system manufacturer must ensure that the

connecting elements and lines comespond to the specified operating conditions {pressure, flow, hydraulic fluid, temperature) with the necessary

safety factors.
Ik EE R EEMEESSE{E,. The data and notes contained herein must be adhered to.

3¢ F LT B H14E The following tightening torques apply:
S5 4F2E T 4R R4 FL Threaded hole for axial piston unit:

BT REHE Mo 3 FRGFLER AN, AEETZME. XM, WL TR,
The maximum permissible tightening torques MG max are maximum values for the threaded holes and must not be exceeded. For values, see

the following table.

#E3L Fittings :
XTHRZRLMNEEAE, WS REEHIRNA,
Observe the manufacturer's instruction regarding the tightening torques of the used fittings.

ElE¥K$T Fixing screws:
HX#WEDIN 13 MERRET, BAT2UMAERE VDI 2230 MR KEHERHITRINEE .,
For fixing screws according to DIN 13, we recommend checking the tightening torque individually according to VDI 2230.

4 W4T Locking screws:;

HTHMEEETHMFRHANERAEET, ENURATHIVBOREREM, AXHE, RSLTR,

For the metal locking screws supplied with the axial piston unit, the required tightening torques of locking screws MV apply. For values, see the
following table.

E S 4ie M DIN EN ISO 13849 A9l B B LSBT IAERLE
The product is not approved as a component for the safety concept of a general machine according to DIN EN ISO 13849,

WorRARFRKERE FURBETET WK Bl 4E WAF
W R} Max. permissible tightening Required tightening torque B~ fE
Thread size torque of the screw thread for locking screws Hexagon socket
Mgmax MV

Mi12x1.5 DIN 3852 50 Nm 25 Nm 6 mm
M14x1.5 DIN 3852 80 Nm 35 Nm 6 mm
M22x1.5 DIN 3852 210 Nm 80 Nm 10 mm
M26x1.5 DIN 3852 230 Nm 120 Nm 12 mm
M33x2 DIN 3852 540 Nm 310 Nm 17 mm




	启东联谊机械_页面_115
	启东联谊机械_页面_116
	启东联谊机械_页面_117
	启东联谊机械_页面_118
	启东联谊机械_页面_119
	启东联谊机械_页面_120
	启东联谊机械_页面_121
	启东联谊机械_页面_122
	启东联谊机械_页面_123
	启东联谊机械_页面_124
	启东联谊机械_页面_125
	启东联谊机械_页面_126
	启东联谊机械_页面_127
	启东联谊机械_页面_128
	启东联谊机械_页面_129
	启东联谊机械_页面_130
	启东联谊机械_页面_131
	启东联谊机械_页面_132
	启东联谊机械_页面_133
	启东联谊机械_页面_134
	启东联谊机械_页面_135
	启东联谊机械_页面_136
	启东联谊机械_页面_137
	启东联谊机械_页面_138
	启东联谊机械_页面_139
	启东联谊机械_页面_140
	启东联谊机械_页面_141
	启东联谊机械_页面_142
	启东联谊机械_页面_143

